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Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
wer e RetTrEm Ted i -

(a) In a capitalist economy, the level of
employment depends on

@ R SRS Fee Mae B9 FeT I
(i) level of aggregate demand
bR (Re R EGE RIS RS S

(ii) level of aggregate supply
AHAE @ISR TG SIS
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(2)

(ii)) level of effective demand
AFY HIFAR TR 87[{S
(iv) None of the above

87T OIS T
( Choose the correct option )

(o Resc afy Sfasa )

(b) Aggregate demand can be expressed as
SRS oifRd a<r 9 <]
() D=D,+D,
(i) D, >D,
(i) D; <D,
(iv) D=D, -D,

where (3™6) D = Demand (5fzm)
D, =Consumer demand (CST&H 51f241) and

(3¥) D, =Investment demand

(Rfvcsr oifzw)

( Choose the correct option )

(% fRFscor Az Sfersar )

(c) When money wage rate is unchanged,
the slope of aggregate supply function is
afen a1 7597 27 wARedan, cofem T=ias
Q9 T4 HFE 2]
(i) linear
«Re
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(3]

(i) non-linear
5-caRs
(iii) curved
9
(iv) Any shape
ez weRe
( Choose the correct option )

(= Resch iR Sfeear )

(d) According to Phillips, the relationship
between unemployment and the rate of
change of wage rate is

oy T g o W9 “fResa 2199
& S0 XA

(i) inverse
[EREIS

(ii) linear
ks

(iij) non-linear
-3

(iv) both inverse and non-linear
Re3re wF 9-c3RT [ABR

( Choose the correct option )

(o= R IR S )

22A/40 ( Turn QOver )



e

(e) Phillips curve determines

fforer @R e 3

(i employment rate

fRanse 2"

(i) unemployment rate
AR =@

(iii) inflation rate
JurEIfeT z1

(iv) All of the above
o[ SAGIRCFRO!

( Choose the correct option )
(o= s ik Sfeea )
(/ What is modified Phillips curve?

sgenfae e @1 92

(g9 What is assignment problem according
to Mundell?
TeeeR qeo wifesd I 0 2

(h) What is Dornbusch’s overshooting
model?

A5 &SRR WD 2
(i Define international financial market.

Wﬁ@ﬂw_ﬁ'{wﬁw

() What is open economy?
T g4Afe 7
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(5)

2. Answer the following : 2x5=10

were AR Ted i :

(a) Differentiate between spot and forward
exchange rate.
=5 o TS R 93 &e 1w Ay
411

(b) Write two constituents of international
financial market.
EEfes e IS 101 SAmFA - foran |

() What are the I-S components of
Mundell-Fleming model?
Teos-gFfaz wf3q qe-RiFasm Smmem
&2

(d) Give two merits of Phillips curve as a
tool of economic theory.
Heftafos o AzF o i @[ 1o @9
for=m |

(e) Define impossible trinity of Mundell-
Fleming model.
Jeoa-@rfR wfER SpReR af' sige i o

3. Answer any four of the following : 5x4=20

worq Rerean s o[ Teq fes

(a) What are the factors which cause shifts
in the short-run Phillips curve?
@A Ee IAee HIPR i Q¥R
ARIETI F1RU T = ?
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(b)

(c)

(d)

(e)

22A/40

(6)

Explain the concepts of rational
expectation in theory and practice.

o WF JERE cFago @ Ao
IIICO1 AMRT 37 |

What is adaptive expectation? Mention
three limitations of adaptive
expectation.

gfewfee aorn 2 TR R0 Surae
TEY 9

How is the exchange rate determined in
a free market? Explain briefly.

& e R 2R e fdy 01 =0, 5403
7 A7 |

What are the relative importance of
aggregate demand and aggregate

supply?
e BEM wWRE WET  @eER SR
AR=AF 3Fg F2

How can the aggregate supply function
be derived?

AT @9 Fo9 (FCCA 4@ 3971 20 2
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)

4. Answer any four of the following : 10x4=40
efq fcpie sifRbE Teq i

(a) Explain the purchasing power parity
theory. Discuss its limitations.

(b) Explain Mundell-Fleming model in
terms of monetary fiscal mix policies
under fixed and flexible exchange rate
with perfect capital mobility.

oo BeTIe Jereed e & S AfRadaTE
R z9e qea-@gflia Qs W To2-
GfTe Ry TfSCo A 41 |

(¢ How does the Phillips curve explain the
trade off between unemployment and
inflation? Discuss its policy implication.

feforr @R’ e @ o qurdifes
TR =% AT ICE ? R Aforre [emrigz
AT 41 |

(d) What do you mean by effective demand?
What are its determinants? Explain
briefly.

Afen o e & o0 W SAmeeR 6
f$ 2 oYL TM 90|
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(8)

(e) Discuss how underemployment
equilibrium is determined with the help
of aggregate demand and aggregate

supply.

e oW WE ANEe @A TR
SR SR (@ewed dRa 91 =W, I
30

() Explain the Dornbusch’s overshooting
theory.

TP O SAE ©Gehl I |

(g) Write a note on monetary approach to
balance of payments (BOP).

T el (BOP) WIS {ESialY 649
<G BTt for |

(h) Explain the asset market approach to
determine exchange rate.

Rf =9 R FRAE Toom ISR 7R
T 340 |

* k%

22A—4000/40 3 (Sem-3/CBCS) ECO HC 2



